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Medeen S otitin
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(X+§—K)#ﬁl‘(x+~§’)=éojm)tr y"x*g,dﬁ{hgzéo
g :09_-_!’!____5.—,.
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. Guess y=Il. Theen LHS=12. vo

— =L J s X< 5___-{'?:78?
}rHH =02 =5

] v b= 6;7 50
%3 .
2. Goces‘s X:’,‘LT‘:& RHs=8 5Z/8~O, 52,30
ﬁ ia RHs
do X:2=65:8=0678

2 x = 7((;52,30)
=472 +(p; 4)He;3,3°)
=48, 7 30)
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S 3“"“‘ Root Tadles

No. 30. Plimpton 318. Single table of square

roots.
From 15 30 to 54,9 57
16,1 31 56,4 58]
174 32 5[8],1 59

etc. 1,2,3,21 1,21

Z
o By = /02¢ _ 4
The numbers in the last line are the squares of 1,1,1 j?')‘i 14 = -—5)

and 1,1.%
No. 31.

CBS 8270. Fragment containing five e T

2 -
lines of a table of square roots. Reverse empty. O; S'Z? = 3299 .(5-‘?)

Terminology destroyed.

Only the left-hand side of the fragment is preserved:

z
+

2z v =
: Ys ¥y 2709 _/52
52 ; S = F see ™
ﬁ:ﬁg corresponding to - 0,1{5"/ 60 * o 60> )
48,3[6 54 U = )
50,25 55 05025 = 50,25 _ 3025 _ice
52,[1]6 56 1970 7 5o T Go* co* (6'5
f. Logarithms
Tablets which contain tables of exponents g*, where

n is an integer between 2 and 10, and a is one of the
numbers 9, 16, 1,40, 3,45 (note that all of these are
squares), are known."s We now have an OQld-
Babylonian tablet which answers the question: to
what power must a certain number ¢ be raised in
order to yield a given number? This problem is
identical with finding the logarithm to the base a of a

given number.
* Cf. Neugebauer [4].

" Cf. MKT I pp. 77ff., Neugebauer [6], and Neugebauer,

Vorlesungen, pp. 199-202.

One side of the text in questir.ual.I 1(2‘&1'(: 2078) is
destroyed except for slight traces; ges are pre-
served. On the other side and on the left margin
appears the following:

1 115 2 fib-sig
230-e 4 {b-sis
345-e 8 {b-sig
1-e sis | )
Sga-mi-ru-um nig (or: 4) i du(?) uk PI(?) ... ma(?)

; .. i du(?) uk(?)
2 [62-e 1 fb-sig |
-e 2 {ib-sig

83e 3 ib-sig
916-e 4 {b-sig
1032.¢ 5 {b-sis
1114 6 ib-siy

Left Edge: 1,16 32 fb-sis
1,30e 14 fbsis (GY)

i f th mbers in No. 1 is clearly ;
The meaning of the nu '/‘f 2 3y
16%15 = 2 ’QJ ; {G /@
1611:30 = 4 ]
16048 =
16 = 16,

or, in other words,

0;15 = logu 2
0;30 = logys 4
045 = logy,s 8
1 = !Og’“ 16.

It is also evident that the two lines on the left edge
are the direct continuation of this group, namely,

1618 = 32 1;15 = logs 32
169 =14 % 1,30 = logy 1,4.



Area

b. Trapezoids
The figure given on the obverse of YBC 72901251
2,20
%220 5320 2
Fic. 4.

indicates that the area is obtained by

22042
2

On the reverse is given a trapezoid without inscribed
numbers.

YBC 11126 is uninscribed on the reverse. The
obverse gives the figure of a trapezoid with numbers.

ED,
. | @

&

440,30

1,30

2(2)...300)

FiG. 5.

One set of these numbers satisfies the following relation

45 + 22;30
2

as expected for the area and sides. As for the remain-
ing numbers, it is obvious that

45=3-15 22;30 = 3 - 7;30 30=3-1,0

but the meaning of the coefficient 3 as well as the
number 44(?),30 is not clear.

/T \ ek
VAN

141,15 = 3,0 -

¢. Circle
YBC 7302'*1 gives the figure of a circle whose circum-

ference ¢ = 3. We therefore have ¢* = 9 and for the

15! The tablet measures 7 by 8 cm.
"'Tbclhlpeoftbetnbhtismhlycimhr:diamﬂer&cm.;
the reverse is uninscribed.

Fic. 6.
¢ &
G-I;~E=0;5'9=0;45

using the value » ~ 312k
Analogously, we find in YBC 111201

1,30

[2.5]

Fi6. 7. !

¢ =130 ¢t =215 ea=05-2;15 = O;II.IJ

C:E a :‘-9— Qrea?;c—z-:_-_g__
4 iz 6
- 1 15
o6 0%
Bane: a=5/y
&, ’ =
ored. d:

ST e

, - c?- CZ.
f‘e —— it ————
e - Guae)= 5~ T
W YV,
hea of ba = /BG
o i = pat

1
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X ) @ar)
C= area o1£ édie.'—'x/:')“'éx

1:'&4}/{ = x+b (L: 3,30 GAR)
[7("4—1’;;:@

YBC Yis7

8 139 (gin) is the (total expenses in) silver of a ki-14;

the length exceeded the width by 3;30 (GAR);

14} GAR is its depth, 10 gin (volume) the assign-

ment, 6 Se (silver) the wages.

15What are the length (and) the width? When you

; perform (the operations),
I 16take the reciprocal of the wages, multiply by 9,
the (total expenses in) silver, (and) you will
get 4,30;

7multiply 4,30 by the assignment, (and) you will

get 45;
18take the reciprocal of } GAR (, the depth), mul-

Ai‘&. ﬁ lculif’ﬂ/
i Base 1Z eubifs

s E=- 9 s
i‘=‘?da}ufm

nge =052 i por do

:7_: 30 waerkers
V=- Z_,‘So SA R/af’a; B
@ L SAR
[V=ys sAR]
= -;"-—GA—R
o Vil La0

c:?.zﬁ":-.;z-}-(wﬁ.?o)

! =5 GAR us)
b = 1;30 GAR width (sag)

4 tiply by 45, (and) you will get 7;30; (la) g=1b = 7,30 SAR area (gagar) of the base

1%halve that by which the length exceeded the
width, (and) you will get 1;45;
20square 1:45, (and) you will get 3;3,45;

2take its square root, (and) you will get 3;15: sid
24subtract 1;45 from!™ the other, (and) you will

: get the length and the width.
255 GAR is the length; 1} GAR is the width. Such

(1b) ¢

! . is the procedure.
X Lft X
_ L_]x
X =
Lz | +~ ignove |----{ &

- X
X+tbx=c =j¢r?.p. area.

(X,LL/Z)L.—Z C  Ighere &4 )*
G+ = er (Bl
=) e et |

O —

k = 6 ka¥ (= 0;30 GAR) depth (bir)
V = lbh = 45 SAR volume (sabar).

21to 3;3,45 add 7;30, (and) you will get 10;33,45; From the last relation it follows that the ki-14 is con-

ered to be a prism. Asfortheworkontheki-lé,

23operate with 3;15 twice: add 1;45 to'™ the one, the following assumptions are made:

A = 0;10 SAR work output to be expected
daily for each worker (6%-kar,
translated “assignment”)

w=063% = 0;2gin wages per man per day

(&) paid in silver
=9 duration of the work in days (uy)

m = 30 number of workers (erim-h4)

M = 4,30 number of man-days (erim-h4)

E = 9gin total expenses in silver (kd-babbar).



